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LAW
Paper - 11
Note : This paper contains fifty (50) objective type questions of two (2) marks each. All
questions are compulsory.

1.  Which of the following statements is right ?
(A) Law consist of rules in accordance with reason and nature has formed the basis of
imperative law.
(B) Natural law is a type of command.
(C) Law, according to positivist, is made through medium of courts.
(D) Hart talks in terms of conduct supplemented by an attitude of mind to the effect that
the conduct in question is obligatory because it is required by rule.

2.  Rightin re aliena means a right over
(A) his own property
(B) aproperty of someone else
(C) property situated in a foreign country
(D) property situated in one’s own country

3.  Assertion (A) : A perfect duty is one which a man not merely ought to perform, but may
be justly compelled to perform.
Reason (R) : A perfect duty is one which is not merely recognised by law but enforced.
1.  (A)is true, but (R) is false.
2. (A)is false, but (R) is true.
3. Both (A) and (R) are true.
4. Both (A) and (R) are false.
(A) land?2 (B) 2and3
(C) 3alone (D) 4 alone

4.  Possession is prima facie evidence of tittle of ownership. Hence —

(A) long adverse possession confers tittle even to a property which originally belonged
to another.

(B) in all cases possession leads to ownership.
(C) transfer of possession is not a mode of transferring ownership.

(D) long possession do not confer tittle to the property which originally belonged to
government.

5. Who among the following said that there is in essence no difference between the legal
personality of a company and that of an individual ?
(A) Maitland (B) Dicey
(C) Gierke (D) Kelson

6.  Ownership of Goodwill of a business is

(A) Limited ownership (B) Corporeal ownership
(C) Incorporeal ownership (D) Beneficial ownership
Paper-1I 2 D-58-14
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fater

Tgas — 11
AN : 3T TR0 H T (50) SE-aeheiid 9 € | Wedeh W9 A (2) S T | qult e e € |

1. =9 @ S o1 e w0
(A) e 3 framt @ M g & ST oas % IER i € 3T UHia e B 1 SER
TR Al € |
B) ulavfdoh P Teh Ub =l VT |
(C) UETaEal & 3TAR A FTeidl o ATeqd § S Sl § |
(D) 1 UY 3RO & aR § o1 T ¢ Srgen! 9id 7 % UF &3 9 gl & 3R e afiom g &
o5 577 3TTerRoT it 1 &1 T € 97 e SfeTd § RiTeh FaT i ST SMavashdl § |

2. T Y e s S E
(A) 3T IO W ATHR (B) Tl 3fiT & Hufq WX RIS
(C) To=wr o feye |ufd WY 31iushR (D) 3 39 H e Fufq W STiHesR

3. i (A) : U QU Fied o8 giar & o frdl safe st A et fare i gl 8, st
5 39 e e & o sfog &9 9 srea i st aehan & |

HROT (R) : T YUT FOeT 98 & o7 B 7 Halel Tl 3o &, Siesh an] ol Har € |
1. (A)H™E, AfeT (R) 3T | 2. (A) A E, oAfhT (R) TAE |

3. (A)IRR)IANITE | 4.  (A) AR (R) AT eI E |
(A) 13R2 (B) 233
(C) ot 3 (D) et 4

4. oA, S h TElee H UAH AT Qe & | 37
(A) o g I Tl Ui X et ZTefect UM il & 918 a8 9ur got ®9 F Tt g & of |
(B) @it O § Fest T @ of ST |
(C) sl T BEAICROT e & g&ATaoT 3T Uk aRiehl el € |
(D) o1 €9 § S BRI G &l 3T W el THY T ool 39 G I TEheet Tal g Ha |

5. = A ¥ fFae e i difoss €9 H fRd ol o SEAT Afeded a6 At & wEA

HferTca | T 3R & & 2
(A) #ETTE (B) Tredl
(C) T (D) Foe
6. T fooHg = IR 1 @
(A) difad @i € | (B) I @He € |
(C) T @H & | (D) BRI it & |
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7. It was remarked in ‘Golaknath Vs. State of Punjab’ that our ‘Preamble to the Constitution
contains in a nutshell its ideals and aspirations’ by one of the judges ?
(A) Justice V.R. Krishna Iyer (B) Justice K. Subba Rao
(C) Justice A.N. Ray (D) Justice H.R. Khanna

8. Right of eligible employees to be considered for promotion is virtually a part of
Fundamental Right of employees, was decided by the Supreme Court in :
(A) Union of India Vs. Hemraj Singh Chauhan
(B) Supreme Court Employees Association Vs. Union of India
(C) John Vallamattam Vs. Union of India
(D) St. Stephens College Vs. University of Delhi

9. In Vishram Singh Raghubanshi Vs. State of Uttar Pradesh (AIR2011 SC2275) the court

held that :

(A) It is the duty of Superior Courts to protect the reputation of judicial officers of
subordinate courts.

(B) Procedure laid down in the appointment of officers of subordinate courts.

(C) Procedure laid down in the salaries and service conditions of the judicial officers of
the lower judiciary.

(D) Transfer of the Judges of the High Court.

10. In which of these cases, Fundamental Duties are judicially invoked ? Answer using codes
given below :
1. Prem Prakash Vs. Punjab University
ii.  Suresh Koshy George Vs. University of Kerala
iii.  Rural Litigation and Entitlement Kendra Vs. State of Uttar Pradesh
iv.  Shri Sachidanand Pandey Vs. State of West Bengal

Codes :
(A) 1andii are correct. (B) 1iiand iii are correct.
(C) iii and iv are correct. (D) 1,11, 1ii and iv are correct.

11. Match List — I with List — IT using codes given below :

List -1 List - IT
i. Executive power must be exercised in a. H.H. Maharajadhiraja Madhav
accordance with the Constitution. Rao Jivaji Rao Scindia Bahadur

Vs. Union of India
ii. Executive power is the residue of b. Maganbhai Ishwarbhai Patel Vs.
functions of Government, which are not Union of India
legislative or judicial
iii. Executive power may be exercised c. Kehar Singh Vs. Union of India
without prior legislative support.
iv. The President is not bound to hear a d. A. Sanjeevi Naidu Vs. State of

petitioner for mercy before he rejects Madras
the petition.
Codes :
i i i v
A) d a b c
B) a d b c
< d a c b
D) b C a d
Paper-1I 4 D-58-14
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7. T AT F WA S U 59 91 | fewult @i % g Siae a uee § 59

3TEYT ST Yo HeIT | IMHeT & ?
(A) =TT 9t 3R, FOMTER (B) TS %, GRS
(C) =T TEA. T (D) =T TSR, =T

8. AT HUUIRAT H UGG SMUBR HHARAT & HifeTh STUHRI N & o&qd: & §, Fqared
=arerd | TR A 7 o foran 2
(A) RT T T ST (98 e (B) TdT=d ATeTd HHAR! T S TR T
(C) i Sootady S 9Rd 99 (D) < EIhy Hifetst s et fovatoeme

9. Taumide TEel I ST IS TF (AIR2011 SC2275) | = 3 Fom & & 6
(A) ST AT & =AM SARIIET % JH & GL&I0T T FS FaeAd ol Feaed ¢ |
(B) TR =ATeEl o TeRINal i Fafed & forw Feifed = i usfa € 1
(C) Tt STRTedt o =Taeh STIHINET ol WaT It 37X o % oy (e =6 Tt usia & |
(D) ST AT % AT HT T § |

10. Ffefad g 8 9 s Hifeiss el i =ias ©9 § o] o 7w € 2 = 5T T et A
TEaT ¥ 3T T
() UH TR S IS fovateaerd
(i) GBIV ST S HeA favaiaemer
(i) T TAfCM U Uerfeae o a1 ST ISyl I5Y
(iv) off GfeagHT UIve a1 areed set

TN
(A) idRiiEE | (B) i 3T iii W& |
(C) iii 3 iv T E | (D) 1, ii, iii 3 iv T E |
11. = ST U Fef 1 J=T R gT gt — [ & gt — 1 ¥ GAfed i
T -1 =it - 11
i. I SATHRT T UANT WU TG a.  UA.UY, HERSTERNST Aq1ee @ Sarst
&1 ¥ foha ST =t | T FaTaan S81gY - vRd |€Y
ji. AR MR WHR & TP H b, HIAHIE TYERUTE YA S0 TR T
O & ST Mgeh 31er fourd) el & |
iii. AT AfER w1 AN g fauRl ¢, R f9E I 9Rd 99
AT o foT foman ST Hepell & |
iv. Uguld Aifesst & I F TR d. T ESiE AEg g e T
FrierhTeh! S G & foTT aresy 81 & |
T
1 1l - iv
(A) d a b c
B) a d b c
< d a c b
D) b c a d
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12. The Supreme Court has laid down guidelines for imposing emergency under Art. 356 in
one of the following cases :
(A) A.K.Roy Vs. Union of India
(B) S.R. Bommai Vs. Union of India
(C) State of Rajasthan Vs. Union of India
(D) Rameswar Prasad Vs. Union of India

13. By which constitutional amendment “The total number of ministers, including the Prime
Minister, in the Council of Ministers shall not exceed fifteen percent of the total number
of members of the House of the people” ?

(A) Ninety First (B) Ninety Second
(C) Ninety Third (D) Ninety Fifth
14. Match List — I with List — IT and give correct answers by using the codes given below :
List -1 List - II
(Principles applied by the Courts) (Cases)

1. Law must be based on justice, a. R.V.Keyn
equity and good conscience

2. Subrogation b. Chorzaw Factory (Indemnity) Case
3. Res-Judicata c. Mavrommatis Palestine Concessions
Case
4. Estoppel d. Barcelona Traction Case
Codes :
a b c d
(A) 3 2 4 1
B) 1 3 2 4
<) 2 4 3 2
D) 1 2 3 4
15.  Who is not the Exponent of the Constitutive Theory of ‘Recognition’ ?
(A) Hegel (B) Oppenheim
(C) Hall (D) Anzilloti
16. Match List — I with List — IT and give the correct answer by using the codes given below :
List -1 List - II
(Sources of Public International Law) (Case-related)

1. General principles of law recognised by  a. North Continental Self case
the civilized countries

2. Juristic Work b. Burkina Faso Vs. Mali
3. International Customs c. Portugal Vs. India
4. Justice and Equity d. Paquete Habaana case
Codes :
a b c d
A 1 2 3 4
B) 2 3 4 1
<© 3 4 1 2
(D) 4 1 3 2
Paper-1I 6 D-58-14
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12. TAfaREd qesal § 9§ [had Jaied =-ed 4 STe% 356 o 3T SUTaehel o] A & faw

feom e Fwifta e € 2
(A) TF, T IY TRA T (B) TUH.3R, IS T 9RT G
(C) TR T S TR T (D) U YETE I IR 9F

13. Ty Gfoam denes & AR WAl Heel § oW Tl Wied ot Hdl i Gl ol T o e
) FoT AT & UE U9 | S el g aitew 2

(A) 919 (B) 92&
(C) 93 (D) 959
14. I — [ & G — [T % 1o GHTI IS et e 75T T el | ¥ Tqel SR g
e -1 = - 10
At gRT Fagd fagia amA
1. fafy ffveq w0 @ =m@, @9EG @R o  ARAL FHA
TS| AT TR 3TN & =y |
2. U (GERITE) b. RS Sl (i) AT
3. g MU (9-Sifehean) c. TRIGCST Uoiere Hrag=eT HrHe
4, Toaga (UHe) d. STEet=T YeHuoT Jrer
T
a b c d
A 3 2 4 1
@ 1 3 2 4
© 2 4 3 2
M 1 2 3 4
15. T8 9 BT “YgEE % Heueh (Hgid &1 ufadees Tél § 2
(A) T (B) 3ATUTesH
(C) wr (D) TSR
16. T — 1 3% 90 G — [1 1 Gufer s g0 A1 KT 710 % § | 98t 3 9T -
e -1 = - 11
IR Ah B & HT Traf-er A
1. 9 UL G AT U {af o Qg a. AT Sileiee Aot HTHe
gt
2. IasH & b. ST HIET S ATAl
3. RIS YA c. TIeT S HRA
4. = 3 FHEAT d. U ST HHET
FT :
a b c d
A 1 2 3 4
B 2 3 4 1
© 3 4 1 2
® 4 1 3 2
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17. Statement —1: Subject to Rules of Jus Cogens, local customary law can supplement or
derogate from general custom.

Statement — II : International law does not recognise the concept of local custom.
Using the codes given below give the correct answer :

(A) Both the statements are individually true and Statement — II is the correct
explanation of statement — L.

(B) Both the Statements are individually true but Statement — II is not the correct
explanation of Statement — 1.

(C) Statement — I is true, but Statement — II is false.
(D) Statement — I is false, but Statement — II is true.

18. Using the codes given below indicate the chronological sequence in which the following
judgements were delivered by the International Court of Justice :

1. Right of passage over Indian Territory case.
2. South-West Africa case.

3. Frontier Dispute.

4.  Temple of Preah Vihear

Codes :
(A 1,2,3,4 B) 2,4,1,3
© 1,4,2,3 (D) 3,2,4,1

19. Match List — I with List — IT and give the correct answer by using the codes given below :
List -1 List - I1
(Provisions under Statute of (Related Articles)
International Court of Justice)

1. Binding force of decrees of a. Article 65
International Court of Justice

2. Methods of conferring Jurisdiction b. Article 62
upon the court.

3. Advisory Jurisdiction of the Court. c. Article 59

Courts power to allow a state to d. Article 36
intervene in case to which it is not a

party
Codes :
a b c d
(A) 3 4 1 2
B) 2 3 4 1
) 4 2 3 1
(D) 1 2 3 4
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17. fwem-1: ?ﬁﬂgﬁ%mﬁﬁmmﬁmww%wmmﬁ%ﬁﬁ
|
At — 11 : &1 Weratl o6l TehoUHT Sl SR I A=l Fal Sl |
T 3T 7T Hit BT T R T Fel IR g
(A) ST SANTHAT STOHT-3TAT AT & 3 AR — [1, 3T — | i Tt A & |
(B) M AT SToTT-3TeT I & febe] SATTher — 11, 2TRTehe — [ i Tl e Tl & |
(C) 3R — [ 9 ¢, fom TR — I1 3T & |
(D) 3eRe — [ 319 &, fohrg ST — 1 T & |

18. - U 7T e B WEd ¥ T F AL AR §R UG Srifeitgd ol s

SolelshHITHIR Hilkl

1. YR &F § URITEA & SRR T AHe

2. fof.ufeemr TR HTeT

3. ¥ e

4. Yie faaw = A

3%

(A 1,2,3,4 B) 2,4,1,3
<o 1,4,2,3 D) 3,2,4,1

19. gt — 1t Gl — 11 o 91 GATAT X U A T Pl H & Tl ST T T2 HifT -
T -1 = - 11

FRTET =T AT AR & T Suaey e T

STRIET —ITATCT St AMEFFRY VkTdl g a. 3] 65

=TT W IS SAHR i Thatary b. 3T=T 62

AT T IRTIRIRTAT ST -3 c. 3T 59

TS ST Hicemst el €, e W gEel 3 % felw d. 3R 36

T e TEe &

B b=

A

(A)
(B)
©)
D)

— AN W
NN W A~ o
W W r~ = O
A= = N a
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20. In which of the following cases, a child could not be a ‘Hindu’ under the Hindu Marriage
Act, 19557

L Only one parent is a Hindu and the child was brought up as a Hindu.
II.  If after the birth of a child both the parents convert to Buddhism.
III.  Only one parent is Jain and the child was not brought up as a Jain.

IV. If after the birth of a child both the parents convert to Muslim religion and in the
exercise of parental right the child is also converted to Muslim religion.

Codes :
(A) I,Iand IV (B) IIland IV
(C) MMandI (D) I, and III

21. When two Hindus are descendants of a common ancestress but by different husbands, they
are said to be related to each other by

(A) Uterine Blood (B) Half Blood
(C) Full Blood (D) Fosterage

22. A ‘Muta’ marriage is :
I. A temporary marriage.
II.  Recognized under Sunni law.
III. Recognized under Shia law.

IV. For a fixed period.

Codes :
(A) II'and IV only (B) LILIIand IV
(C©) LHIandIV (D) IIand III

23. A decree of judicial separation :
L dissolve the matrimonial bond.

II.  does not dissolve the matrimonial bond but merely suspends marital rights and
obligations during the subsistence of the decree.

III.  mandates that the parties still continue to be husband and wife but not obliged to live
together.

IV. provides that if the parties have not resumed cohabitation for a period of one year
either party may seek divorce.

Codes :
(A) L IIand IV (B) LILIIand IV
(C) TandIV (D) 1L III and IV
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20. &g faare sfufEg 1955 & Sd = 9 & o5 Arell ° i s o3 7el & Feha ?
I &aet U A &g € o) a=d &l fog & &9 | g1 fhn T g |
. 3 5= & 50 & a5 3 J1-a19 alg a9 T |
[l T T ATl S € Si) g &l S o €9 | g1 Fal 61 7T |
IV. 3% a=d % <79 % oI5 I AT1-aT GEerd &9 ST @ 31T 370 J1dT-aar & ST 6

SYANT X §T ST T W JETHM o1 3 & |
ETE
(A) I IITmIV (B) I 7= IV
© HOaal (D) I IO I

21. w9 3 &g U & AT & a9 € Atk - ufqat | @, df el S € 6 3tk |

i
(A) T T (B) 3T
(C) i E (D) TEH-9YoT &
22,  HAT VM
[ THAREIRE |

I g HFF & AT Jgar o & |

1. ¥ A o Saia |t U & |
IV. ws Hivad safy &g |

FT:
(A) Faet I a1 IV (B) L IL I &1 IV
(C) 1, I IV (D) I @@ 11

23.  =fger fa=se o fesni
[ denfesh sUd o 99 H A ¢ |

II. Segsh S99 TH el Il ek TSshl & ele & SR deles SATHR] qoT Haeal i

areT s T Il & |
I 3w 3t ¢ fob vet ufd i ool = W@ aifeht Q1 e o forw e @i € |
IV. 9 WagH el ¢ o6 afg I1 Uil 3 Uk a o 37aty & fold Wiewd I:3TRY =&t foham &t

T T 9 U &I el bl WIS Y HeheT € |
ETE
(A) LI @IV (B) I, 11, I @& IV
(C) 1@V (D) 1L, III &1 IV
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24. Match List — I with List — II and select the correct answer with the help of codes given

below :
List -1 List - II

i. Ijma a. Cancellation of marriage
ii. Faskh b. Opinion of one individual only
iii. Mahr-ul-misl ~ c¢. Collective opinion of commentators
iv. Qiyas d. Customary dower
Codes :

i i il v
(A) ¢ a d b
B) a b c d
<O c d b a
D) d b a c

25. Rules relating to spinda relationship are based on the principle of
(A) Polygyny (B) Endogamy
(C) Exogamy (D) Polyandry

26. Divorce by Zihar is a species of
(A) actual divorce (B) inchoate divorce
(C) khula divorce (D) constructive divorce

27. For a valid contract acceptance should be
(A) absolute and qualified
(B) partial but unqualified
(C) absolute and unqualified
(D) absolutely qualified

28. According to Explanation 2 to Section 25 of the Indian Contract Act, which of the
following statements are correct ?

1. An agreement to which the consent of the promisor is not freely given is valid
because consideration is adequate.

ii.  An agreement to which the consent of promisor is freely given is valid even if
consideration is inadequate.

iii.  Consideration must be legal.
iv.  Consideration can be illegal.

Codes :
(A) 1iand ii are correct. (B) ii and iii are correct.
(C) iii and iv are correct. (D) 1iandiv are correct.
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24, A — 1 G — [1 ¥ AT HIfSTT a2 T 5T 7T $f o Ferd F Gel SR BN G iy

e -1 = - 11
i e a. foare &1 FREw
ii. w&g b. HAA TF AR H T
iii. HeEA-SoI-MwT c. feumiieRt = afesw 7=
iv. foeamg d. URERE BT
T

i i iv
(A) ¢ a d b
B) a b c d
((O) I d b a
D) d b a c

25. fTioer 9ay 9 gefyd fom fovg fagid o amaia € 2

(A) gl (B) Tt
(C) dfefoams (D) gHfciee
26. TTRR doleh [hgeh U & 2
(A) ST e 6 (B) WRfveh aeTeh
(C) el TqATH I (D) TEATHS T &

27. w Ay Hferr % few
(A) TfGoEoT qoT a9 WO gFT 96T | (B)  WiAuEuT 3if¥Teh wifeh feT 9T BT T |
(C) wfqwrevT qot qen {5 91 &1 =few | (D) Waweor 9ol &9 & | e a1ey |

28. RGN WiaET Em H 9RT 25 T AR 2 & AR = | ¥ A 9 ATTHET T € 2

i. U UE guEar 9 geHeal s Hedid Hod 9 § el & Sl 98 T’iee a9 € Hih
TftheT AT & |

ii. T UG G T el S HeAld 9o w9 ¥ TS € | 9% 99 § 9 Wdee v |7
o & |

iii. Ufawer 37y fafue g =T |

iv.  UfdweT TR-HFT & T ¢ |

@':
(A) iR | (B) i €9 iii WETE |
(C) iii @& iv &€ | (D) iTAivEEIT |
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29. InJyotindra Bhattacharjee Vs. Mrs. Sona Balon Bora, it was held that

(A) the onus of proving soundness of mind of a person always rests upon a person who
alleges such state of mind of another person.

(B) the onus of proving unsoundness of mind of a person always rests upon a person
who alleges such state of mind of another person.

(C) the onus of proving unsoundness of mind rests upon person of unsound mind.

(D) the onus of proving unsoundness of mind is on the judge deciding the case involving
person of unsound mind.

30. Read Assertion (A) and Reason (R) and give the correct explanation with the help of
codes given below :

Assertion (A) : Agreement is void when both parties are under mistake as to the matter of
law.

Reason (R) : Parties entering into a contract are legally obliged to know the law relating
to the contract.

Codes :

(A) (A)and (R) are correct and (R) is correct reason for (A).
(B) (A)is correct, but (R) is wrong.

(C) (R)is correct, but (A) is wrong.

(D) Both (A) and (R) are wrong.

31. Where, a law promulgated after the contract is made, makes the performance of the
agreement impossible, the agreement becomes

(A) Voidable (B) Valid
(C) Void (D) Absolutely binding

32. Match List — I with List — II and select the correct answer using the codes given below :

List -1 List - II
i. Damages arising in the usual course a. Ghaziabad Dev. Authority Vs.
of things Union of India
ii. Compensation for mental anguish b. Hadley Vs. Baxendale
iii. Measure of damages c. M/s. Ganga Maruthi Vs. Nagaraj

iv. Compensation for breach of contract d. Jamal Vs. Moolla Dawood
where penalty is stipulated for

Codes :

(A)
(B)
©
D)

o o o =
o & o oW
o 0 A
o a o o
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29, SHifag WEETS a9 AHdr G ST S)T A9 9 T8 Hhaelr fomar o &

(A) Todt =t & AT & 3 89 B (9w S o S119ea g9s 39 S W ET € ST R
T AT ! AN 9 % TR H Tg 3R T & |

(B) Tt =afert o fSumT TR &4 i g T T STl SRS SH At W & € i bl o
T ol AT IIM & IR H T8 TR e & |

(C) T e B ot [ oA o S1iac 39 =Afed W & foaen feam eie €

(D) EHTT W B B T S o S1faed SH AN W E SS9 A9 S 9@ W@ € e
1S TeHTT T e e €

30. SYFUT (A) TAT HROT (R) i UET 317 A ST 7T e ot 78S & el AT i ERT HifTT
BT (A) : THAT T WIS 81 STl & ST S U8t B % Hiel  Tordl & 3T g € |
WéR):éwﬁwmﬁmW%%ﬁmm@mwaﬁmamﬁ

|
£ T
(A) (A) @7 (R) &t & T (R), (A) T T&l HROTE |
(B) (A) Tl g, AT (R) T & |
(C) (R) W&l &, oAl (A) T € |
(D) (A) @1 (R) 341 TToAd & |

31. STl IS S ST HEsT % & & a1% St fha S € o8 THeid % e St SrEe o4 3 €,

TRt T
(A) IS & ST & | (B) JYESEIE |
(C) I & Sam e | (D) UTEUT STEHRT & ST € |
32. gt — 1R gEt — 11 ¥ GAEd HiT Y $el S 76 ¥ Tal SR gHT
et - 1 et - 10
i, WEF Y H UK e Ol eI o, MNGETens  faerd R
T 9RAT 9
ii. AHNEE deT o T qamasn = b, &Solt S Jo-ee]
iii. &SI %1 A c. ST T HIHIA SHM AR
iv. Gfe_T & I &g HeNEsn d. STHICT ST Hooll J18R
et g TAfvad fovar T |
He
1 11 111 1V
(A) Db a d c
B) a b d c
< b a c d
D) d C a b
D-58-14 15 Paper-1I
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33. Who is the propounder of ‘Pigeon hole’ theory ?
(A) Winfield (B) Salmond

(C) Flemming (D) Paton

34. The owner of the bus instructed the driver not to race and compete with other omnibuses
on a particular route. Driver still tried to obstruct a rival omnibus and caused an accident.
What shall be the nature of liability ?

(A) The driver shall be liable for the accident because he did not follow the instructions
of his owner.

(B) It shall be the liability of the owner of bus because he has no authority to give
instruction to his driver and his act was totally wrong.

(C) The owner of the bus shall be vicariously liable for the accident committed by his
driver during the course of employment.

(D) Neither owner nor driver shall be liable.

35.  Which of the following is NOT a sovereign function of the State ?
(A) Construction of military road.

(B) Injury to the plaintiff during the lathi-charge by the police to disperse the unlawful
crowd.

(C) A Government jeep being taken from the workshop to the collector’s bungalow for
his use.

(D) Distribution of meals to army personnel.

36. Assertion (A) : A wooden chair while being used by a guest, caused an injury to him due
to defective manufacture. The guest is entitled to claim damages from the
manufacturer.

Reason (R) : The manufacturer owes a duty to take care only towards the lawful buyer
under the Consumer Protection Act.

Codes :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C©) (A)istrue, but (R) is false.
(D) (A)is false, but (R) is true.
Paper-1I 16 D-58-14
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33. fusm ger Tagid o uEdEs B ¢ ?
(A) fowies (B) wreHE

(C) AT (D) e

34, I AT A TH foRY & W GRA i 31 I TG ¥ AqaifiTar w31 3 A & folw 7
foram o | greaR A TR oft Ueh Uit a9 ot aTferd et o1 I fopaT 31X gefeTt o & | vl e
T TS BT 2

(A) TR AT % ToTU TSR &I ST 9 370 HifeTeh o SRS 1 UTei =&l foha |

(B) TE 9 Hifetsh o SIidcel BT ek SHeP! hig AR Tel o foh a8 30 greer &t fRer
3T 3T H qoid: TTerd & |

(C) &9 T AT ISTIR o I STeaX §RT 3l TN FHAT % oI wiatiyes &9 9 Sear g |
(D) T @ HIfeTeh 3 AT & SIeaR STHaR e |

35. ffaiad o | A @1 o9 & G T Tél € 2
(A) 7 art & fafor |

(B) fafy faesg «fig =t faai-foer #<= & foiw gfera g1 fob T St =t % SR ar&l & =i
A |

(C) FHAFT % A W 3% STANT & [T IheiTT H BRI ST 1 of ST |
(D) et & foTT HisFH o1 fora=or |

36. AMUHAT (A) : ST SM(ART TThg! P HET T SSAT & O ST JUYUT TGS T HROT AU &l
ST & | SAfary Fetar @ sfaufa o sRsR E |

HROT (R) : ST LRIV B o 3T el Gy THT TIKRT & Wi & S bt THgRy
g

(A) (A) 3i¥ (R) T W& & 3R (R), (A) H W&l AT |
(B) (A) 3R (R) 1 T&t € W (R), (A) I Te ==& T8l & |
(C) (A) TWEWR(R) T T |
(D) (A) @A W (R) W€ |
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37. If a journalist publishes an article in a leading newspaper that all lawyers were thieves, no
particular lawyer could sue him unless there is something to point to the particular
individual. It refers to

(A) Defamation of a company
(B) Innuendo
(C) Defamation of public figures

(D) Defamation of class of persons

38. Match the List — I (Name of Case) with List — II (Name of Court) :

List -1 List - IT
1. Municipal Corporation Vs. Subhagwanti 1.  High Court of Madhya Pradesh
2. Roop Lal Vs. Union of India ii.  High Court of Jammu & Kashmir
3. State Vs. Chironji Lal iii. High Court of Calcutta
4. Rural Transport Service Vs. Bezlum Bibi ~ iv. Supreme Court

Codes :

1 2 3 4
(A) iv il i il
(B) ii i iv il
(C) i v il i

D) iv i i i

39. The Revenue Inspector knowingly disobeys the direction to conduct enquiry at a place for
demarcation, what offence, if any, has been caused by him under IPC ?

(A) An offence as per Sec. 166-A.
(B) For continuing to remain in an unlawful assembly as per Sec. 145.
(C) For touching any point material as per Sec. 199.

(D) For giving false information as per Sec. 201.

40. A man has committed physical contact involving unwelcome sexual overture against a
female. What offence has been caused by him under IPC ?

(A) Requesting for sexual favour as per Sec. 354-A(1)(i1).
(B) Sexual harassment as per Sec. 354(1)(i).

(C) Out-raging of modesty as per Sec. 354.

(D) Attempt to rape as per Sec. 370(A).
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37. 3 U THHR VW THER-UT B U o TSI BT & fob qull st =X &, ST A foh ot
foRe =ferm it 3T AT FA aTell i a1 A & His giel 39 T THIAT 6l H Tl | T8
Torae Haifua € 2

(A) AT H SEHEAT (B) =it
(C) TAHATT ST i 3THTT (D) AT % o i STTHAT

38. gE — I (YA o AT Gt — [T (=FTTerd 1 A1) & Qe e wifs

Tt - 1 = - 11
TR T S gmTEdr i, =T URY S°d e
TATA FAH IR T ii. ST 3R FHEER 3o AR
T g fFerdsiretre iii. TR STF <A

T T Yot o9 ST/ ofel iy, Fared =g

-l

(A) iv i i il
@) i i v il
©) i iv i i

) v 1 i il

39. I RIeTH - & IF W ST HRA H SR e i ST Al § | 39 IRAE
JUE [iEaT % ST ATG HiE a1 &, T Fhg T b SToRTy foharm & 2

(A) R 166 T & SFTAR TR FHAT |

(B) R 145 % 3TER U TR-HHA STHES | FAd o & AT |
(C) 4RI 199 & UK fordt oft |l (WfEe HeREet) &t g &1 |
(D) 9RT 201 % 3FER e SR S Al

40. TS UTY N AT U & T GEeT F INIRS FaY F41d1 & | ST M ALY, & 3=wia, v
TR T STORTY ol & 2

(A) ®RT354-A (1) (ii) F 3TER I oy & o0 SR |
(B) €T 354 (1) (i) 3FER I 6T |
(C) oRT 354 % STAR AT FT ST FA |
(D) T 370-A % 3TER TATHR HH H JI |
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41.

42.

43.

44.

45.

46.
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Read the Assertion (A) and the Reason (R) given below to answer the correct explanation
using the codes :

Assertion (A) : The legal right involves freedom from penalty.

Reason (R) : A legal right is one which is either enforceable or recognised.
Codes :

(A) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
(B) Both (A) and (R) are true and (R) is the correct explanation of (A).

(C) Assertion(A) is correct, but Reason(R) is wrong.

(D) Assertion (A) is incorrect because Reason (R) fixes liability when not enforceable or
derecognised.

The maxim ‘ream linguam non facit nisi mens rea’ is propounded by

(A) Coke (B) Lord Kenyon
(C) Augustine (D) Lord Arbinger
Fill in the gap :

Disobedience of law is not ordinarily a crime unless that act is declared as crime by some

(A) law (B) method
(C) society (D) All the above

The Indian Penal Code prohibits fixing of liability on a person so long he is authorised or
gives assent to it. But there is an exceptional situation arising out of :

(A) Libel (B) Public nuisance
(C) Contempt of Court (D) All of them

Who among the following moved a resolution in the Central Legislative Assembly
recommending that the Government should introduce a legislation for registration and
protection of Trade Union in the year 1921 ?

(A) B.P. Wadia (B) M.N. Joshi
(C) N.M. Lokhanddey (D) V.V.Giri

“Works Committee under the Industrial Disputes Act should be substituted by an
‘Industrial Relations Committee’ to promote in-house dispute settlement.” This
recommendation was made by

(A) Royal Commission on Labour
(B) National Commission on Labour 1969
(C) National Commission on Labour 2002

(D) National Commission for enterprises in the Unorganised Sector

Paper-1I 20 D-58-14
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41. 3YFEF (A) TAT FROT (R) Fl UfET qAT 1 ST FH2i 1 TN Feh Tl AT FHl I I
ATHYA (A) : FEAT HR H <5 T Jiod T & |
HROT (R) : HHAT TIHR & & ST AT aF Fela=19 & 2T J=3T 9 & |
E TR
(A) (A) @1 (R) ST &l €, AAfeh (R), (A) i Tel AT &1 € |
(B) (A) @ (R) ¥cF & @1 (R), (A) el ST & |
(C) 3MHH (A) Tl &, T ®ROT (R) TToid ¢ |

(D) 3AWHTT (A) 3T ¢ Fieh (R) ST H¥ad 1 & 519 o8 Fea=19 a1 =i
AT E |

42. I T A foran =i Hige fie 59 3 o T & 2
(A) ®® (B) S =i
(C) @i (D) @S Ffe)

43. Tl T o 9RT

A I ST A Uk STURTY &l § 59 b 156 39 B i {ohat % FRT 3TY
it & feam S |

(A) (B) VT

(C) TES (D) U Tt

44, IRAE < Gear U AR W IR T FA T Akt & ST T 16 T8 WHa & 3TaT 39 e
TEArd I & | ik Thdeh HRUT Ush a9y et UsT &l ST & 2

(A) 3HE T (B) TSI ST
(C) =A™ & AFEI (D) SUgeR ot

45. = 9 9 fHaa w1 faart a ° g fawier & gu ay 1921 | U Hehed wdite 6 i
TWHR T JFTAT & USIToR0T Ud G % oI Ueh foeaeh uRaniad e 2

(A) ST atear (B) TH.UA, SRl
(C) TAWH AES (D) drar. fi

46. T faarg sifufay & Siard B % W] & foemst & Huer & ‘P afmfa o siehn
Hay Ififa’ 9 MY & {37 ST Afeq | I8 TRt feae =6t 2

(A) =\ a7 ST (B) &1 Teiell T ST, 1969
(C) =\ Tael UL 1T, 2002 (D) eTETed WFX H 3T & ST AT

D-58-14 21 Paper-1I

WWW a?27Subiects com


www.a2zSubjects.com
www.a2zSubjects.com

www.a2zSubjects.com

47. Who is a protected workman under the Industrial Disputes Act ? Answer from the codes
given below :

1. A workman who is a member of a registered Trade Union.
2. Recognised by the Registrar of the Trade Union as protected workman.

3. A workman who is a member of the Executive or other office bearer of a registered
Trade Union connected with the establishment.

4. Recognised as protected workman under the rules applicable to the establishment.

Codes :
(A) land2 (B) 2and 4
(C) 3and4 (D) land3

48. Failure of the conciliation proceedings under the Industrial Disputes Act leads to refer the
matter to adjudication by

(A) the conciliation officer
(B) both employer and employee
(C) the employer

(D) the appropriate government

49. The power of the Government to refer a Dispute under the Industrial Disputes Act is
(A) Mandatory
(B) Discretionary
(C) Recommendatory

(D) Either mandatory or discretionary

50. Read the Assertion (A) and Reason (R). Write the correct answer using the codes given
below :

Assertion (A) : The conciliation officer has no power under the Industrial Disputes Act
when neither industrial disputes exists or apprehended.

Reason (R) : Conciliation officer only investigates the Industrial disputes which exists or
apprehended.

Codes :

(A) Both (A) and (R) are wrong.
(B) Both (A) and (R) are correct.
(C) (A)is correct and(R) is wrong.
(D) (A)is wrong and(R) is correct.

WWW a?27Subiects com


www.a2zSubjects.com
www.a2zSubjects.com

www.a2zSubjects.com

47. SiEnfTe foag stufTam & Sidqd S QRIT HHHR § 2 e KU % @ 3w R |
1. U UH FUSR S [hdl Ustishd ¢ e &l 953 & |

2. 3T AT o USIEw FRT U GMRTT HHBHR o €I H T |
3. U FHHBR S G A S g8 [hat ustieha o€ a1 FREHINOT H 9E & T e

3T IR &t |
4. T W AN I % AT U QR HHER ok T § T W |
FT
(A) 132 (B) 234
(C) 334 (D) 133

48. 3T faarg Afufam & Siard ole HrEaeal H fawerdl ¥ e Sfoee &g e dem

ST & 2
(A) T AR (B) Tarer aen U= g4t
(C)  Frretrer (D) SUIH TWHR

49, 3N faang erfufay & siaria fdt faerg st Qo &1 ThR i ISR &
(A) TR (B) oo
(C) Feqfasr (D) SR e foarehre

50. 3TN (A) @I HROT (R) i Ui T = ST i T UFRT ok Fel ST JIIT

AfHUT (A) : 3fiEifiTe foamg sfufTem & Sfaia THeir TSR B 7 B ISR Tl g
S A A PIE SENNTE fGag HIS[E & 7 ST S & |

HROT (R) : TUAT MR FHaret 37 SHNiTeh foanst sl Sire S & S 1S & a1 STl 3797l

T
@':
(A) (A) @0 (R) &1 Tora & | (B) (A) @ (R) i1 @&l & |
(C) (A) W gaa (R) Td ¢ | (D) (A) TEdE T (R) WIE |
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